AW-PHB50N f#EsRHA

COMFE. ERKRICETIEEFHRS., REFHBECEHINTLSEBHERZRESBELTVET,

BRSPS LSO ETHRHFLEE LY,

BSOS HEN

AW-PHB50IC(E. AFE (DEE) YN\ IV ITEICHE

BEUHAR A v FHHDET,
BETTETRIDBIDSBELVESHSOHEITODT, R

B9 2EC. BUERSAEDOOS — IV AEERRORE (16

R—3), @CPUEIRDAA v FRE (17X—Y), @I
NIV TRDH A SHIEEHER A v FDHE (26~—~)
BELUTEECBBOS X, BRKEBICSOEREAIvF
BEICEIDI|ZTLLEELY,

OLENS I/F(2) HlIfEItNIRA v F [#IHEERE : Fujinon]
FERITBHLXICEHETLENS I/F(2) S8R 1 v F
. EYIDBAZTLEELY,
Fujinon : 73/ (#) &#RDL X
Canon : Fv ./ (#%) &IASL VX WASLU X,
VASL X

LENS I/F()HIHIBRR A vF .

o— |
=

CMGEHA CB400 =P HRP ICanonﬁ-)Fuiinonl

BAK-HCO10%ZERT S ESDEEHIA

AK-HC910l&. HD-SDHES LY/PB/PRESHHNTHEE
TIH. Y/PB/PRIESZFIRE U TERT dEEIE. SDI
IN/OUTIRmFIFER LBV T L FEE LY,
HD-SDUESZH#RE UTEAT 155D, SDI OUTiR
FEEHRLTLIEELY,

BMAK-HC1500%AW-CB400h'SHiHl T 35S0
ESEIE
AK-HC1500(%. AK-HRP150070 FaIB KLY
AW-CB400M 70O k NUCHH U TWLWETHL. eSS
AK-HRP1500 70 M OVITEEEENTLET .
AW-CB400%{#> CAK-HC1500% I3 2ESIE.
LI TOFEEICHEL. AK-HC1500070 L%
AK-HRP 1505 S AW-CB400[CH1 DR T L &Ly,

OEEFICTO N ZEY)DIRZZES
AK-HC1B500DEEREAEZSR L. 70O LD R
R TLIEELY

ORER(ICTOMIIZEY)DBRZ DIES
QAW-PHEBONDEURSAEICHE > TERELF I,
@AXSINDIV IO LEAIN—FRAMRIL ~ (2FFT) ZED.

EHN-ZRITET,
@ACT F T —BDERAA v FZONICLET,
@AK-HC1500DERMONIZIED K LTz B,
AK-HC15000BIRERIAEZER L. 0 M TJ)LZEYID
i
(SETTINGAZa—0® [PROTOCOL] % 4] (YD
AFT)
®ACT I T —BDBRAA v FZOFFICLEY,

WiERE D EFH
O FELDEBRZECHERLIESELY,
m B e t
1 |ERT—JW 1 [#¥930m
2 |NWFr—TJ 1 [¥W10m
3 |AASHT=TI 1 [2IN—FIIAASHE
4 |AXSHT—=TI 1 |AK-HCO00¥ U—XA
5 [AXZ5—TIL 1 |AK-HC1500/8
B |LARFEE 1 (KRB XH
7 |REEERRkU 2 |M5F. MBH
8 |REEERD v v 2 (98
9 |LvZXEBEE 1 {#85 cm
10| AASEUYFTANR—t 1
11 [ERAN—ERLU 4 11/442F, ET13 mm
12[BAR—SETvI v | 4 |06
13 |fIERDHRAL 1 [MB, B 8 mm
14|ACT & 755 2BUTHR 1
15 |32 E R AR U 4 M8, E&X 14 mm
18 |[ZHEARMRAT vy | 8 |08
17{"BUF 3 |[MBH. M6F. M8H
18\ IEHBETU—LA 1
1918 ET7LV—LBRAL 4 |MB, B¢ 30 mm
20 EETOL—-LATDvY v | 8 |9b
211745 — 1
22 IR/ R 5 #1100 mm

VQCBO0012



Additional instructions for AW-PH650N

This booklet contains some additional precautions relating to the equipment used as well as some more details on the

constituent parts given in the operating instructions.
Read it alongside the operating instructions.

B Steps to be taken prior to installation

The AW-PH650 has function selector switches on its main
unit (pan/tilt head) and housing.

Since it may prove difficult to change the positions

of these switches after installation, refer to () cable
compensation circuit settings (page 15), @ CPU circuit
board switch settings (page 16) and (3 settings of the
camera control selector switch inside the housing

(page 25) in the Operating Instructions as well as to the
information below prior to installation.

Then set the switches to the positions that correspond to
the operating conditions.

e LENS I/F (2) control selector switch
[initial setting: Fujinon]
Set the LENS I/F (2) control selector switch to the posmon that
corresponds to the lens used.
Fujinon: RD lens made by Fujinon
Canon: [AS lens, WAS lens or VAS lens made by Canon

LENS I/F (2) control selector switch

/

T —

HPrecautions when controlling the AK-HC1500
from the AW-CB400

The AK-HC1500 supports the AK-HRP150 protocol and
AW-CB400 protocol, and it is the AK-HRP 150 protocol which
was set before the AK-HC1500 was shipped from the factory.
When controlling the AK-HC1500 using the AW-CB400, follow
the steps below to change the protocol setting of AK-HC1500
from AK-HRP150 to AW-CB400.

e When changing the protocol before installation

Refer to the operating instructions of the AK-HC1500, and
change the protocol.

e When changing the protocol after installation

M Proceed with the installation following the steps given in the
operating instructions of the AW-PHB50N.

(® Loosen the two top cover open/close bolts of the camera
housing, and open the top cover.

(® Set the power switch of the AC adapter to ON.

@ When the power of the AK-HC1500 has been turned on,
refer to the operating instructions of the AK-HC1500, and
change the protocol. (Change the PROTOCOL setting on
the SETTING menu to “4.")

(® Set the power switch of the AC adapter to OFF.

—l=| B [&
U UF @

CHIERA CBA0D 4= HRP lmonq-wu;inon

MPrecautions when using the AK-HC910

The AK-HC910 is capable of outputting HD-SDI signals
and Y/PB/PR signals, but when the Y/PB/PR signals are
used as the main line, do not connect any signals to the
SDI IN/OUT connector.

Connect signals to the SDI OUT connector only when
using HD-SDI signals as the main line.

HDetails of constituent parts
e Check the following accessories supplied.

Product QTY Specification

1 |Power cable 1 |Approx. 98.4 it. (30 m)
2 |Multi cable 1 |Approx. 32.8 ft. (10 m)
3 |Camera cable 1 |For convertible camera
4 |Camera cable 1 |For AK-HC900 series
5 |Camera cable 1 |For AK-HC1500

6 |Lens holder 1 {For alarge lens

7 |Screws for lens holder 2 |For M5 and M6

8 |Washers for lens holder 2 o6

9 |String 1 |Approx. 2.8 ft. (85 cm)
10 |Camera mounting spacer 1

11 |Screws for camera mounting spacer | 4 |[1/4", length: 13 mm
12 |Washers for camera mounting spacer| 4 |26

13 {Positioning screw 1 |M5, length: 8 mm

14 |Pole mounting plate (AC adapter) 1

15 |Screws for pole mounting plate 4 |M8, length: 14 mm

16 |Washers for pole mounting plate 8 |08

17 |Allen keys 3 |For M5, M6 and M8
18 |Housing mount frame # 1

19 |Screws for housing mount frame 4 |M5, length: 30 mm
20 |Washers for housing mount frame 8 |e5
21 {Filter 1
22 |Cable ties 5 (Approx. 100 mm




